UPBS - 2014-2015

Name: Class: IV Subject: Maths

SA 1 Worksheet: Subtraction

I. Fill in the blanks

The number from which another number is to be subtracted is called

The number which is to be subtracted is called the

The result which we get after subtraction is called
10000 -1 =
98912 -0=

Largest 5-digit number + = smallest 6-digit number.
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In subtraction problem, the smaller number which is to be subtracted from is

85106 — 85106 =

100000 - = 99999
10. When the subtrahend and minuend are the same, the difference is
11. 1000 less than 9000 =

12. -0=606061
13.If is subtracted from a number, the difference is the number itself.
14. One subtracted from a number gives the of the number as the
difference.
[l. Subtract

1) 42,069 from 54,999 2) 24,529 from 5,68,048




3) 1,28,746 from 3,26,235

4) 5,28,564 from 7,06,000

Find the missing minuend

a)

168235

105698

b)

635005

387734

Find the missing subtrahend
a)

482800

268005

b)

823665

113322




IV. Story Sums

a. Indian Railways has railway tracks of length 59684 km. The Nationals Highways has roads
of length 24943km. Find the difference?

b. 3,43,392 people live in Goa and 3,51,462 live in Pondicherry. Which town has more people
and how many more people?
Find the difference between the largest 5-digit number and the smallest 5-digit number.

d. Mother diary produced 30000 pouches of milk in one day. It supplied 20196 a day to various
depots. How many pouches were left behind?

e. | borrowed (1 3 lakh from a friend. | paid him [ 66678 in the first installment and [ 70871 in
the second installment. How much more do | owe him now?

Solve.

a. What should be added to 49,533 to get 1,50,0007?

b. Find the number that is 8,935 less than 7,678

¢. What should be subtracted from 84,339 so that the difference is 23,8527

d. How much more is two lakh than 990067

e. Rahul subtracted 265479 from a number. He had 8062 left. What was the number he began

with?




